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QUESTION 1

Customer data is being processed in a single file. Among the fields present for matching are national identity number
and birth date, both of which are inconsistently populated. Which match type should be used to match this data?

A. One-source Ranged

B. One-source Cognitive
C. One-source Transitive
D. One-source Dependent

Correct Answer: A

QUESTION 2

What is the most optimized way to pass data between jobs?
A. Storing data in XML.

B. Storing data in text files.

C. Storing data in parallel datasets.

D. Storing data in indexed database tables.

Correct Answer: A

QUESTION 3

In order to accomplish Word Investigation in a single QualityStage job, how many investigate stages would be required
for the following fields:

PREFIX, FIRST_NAME, LAST_NAME. SUFFIX. ADDRESSJI. ADDRESS_2, ADDRESS_3, CITY, STATE.
andZIPCODE?

A. Ten.
B. Five.
C. Three.
D. Seven.

Correct Answer: A

QUESTION 4
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Which match type would you use to perform a "fuzzy" match for a field containing many un- parsed words (such as a
comments field)?

A. CNT_DIFF

B. PRORATED

C. MULT_EXACT
D. MULT_UNCERT

Correct Answer: C

QUESTION 5

When exporting a rule set to a .dsx file, what check box options should be selected?

A. All check boxes are selected.

B. No check boxes are selected.

C. The Exclude Read Only items check box is selected and the Include Dependent Items check box is cleared.

D. The Exclude Read Only items check box is cleared and that the Include Dependent Items check box is selected.

Correct Answer: A
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